PΙ	٨	NT	FN	$\mathbf{r}\mathbf{r}\mathbf{p}$	PR	PAPE	PRO	\mathbf{DH}	CTION	
	А	111	ועו	רועו ו	. 1 17		1111	יוועוי		

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Non-irrigated		11,539.0	910.00	10,500,490	lbs.	\$5,460,255
Seed - Non-irrigated		11,539.0	1,456.00	16,800,784	lbs.	\$924,043
Cotton (Total)	9	11,539.0				\$6,384,298
FORESTRY						
Pulpwood						
Hardwood				44,476	cords	
Pulpwood (Total)				44,476		
Saw Timber						
Hardwood				5,276,961	board feet	
Saw Timber (Total)				5,276,961		
Total Pulpwood, Chip & Saw,	,					\$5,199,463
Saw Timber FOB Mill						
Total Forestry Stumpage						\$2,566,325
Christmas Trees	*			25	trees	\$1,000
Forestry (Total)						\$5,200,463
FRUITS						
Strawberries	*		1,910.00		flats	
Fruits (Total)						
FEED GRAINS						
Corn	7	7,970.0	142.00	1,131,740		\$2,591,685
Grain Sorghum	8	2,454.0	65.00	159,510		\$638,040
Oats	*	274.0	62.00	16,988	bu.	\$40,262
Feed Grains (Total)		10,698.0				\$3,269,986
GREENHOUSE VEGETABLE						
Tomatoes	*	13,500.0	6.50 Yield / sq. ft	. 87,750	lbs.	\$118,463
Greenhouse Vegetables (Total) HAY FOR SALE		13,500.0				\$118,463

PI.	ANT	ENTER	PRISES	PRODUCT	ON

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
HAY FOR SALE						
Grass	12	1,260.0	3.60	4,536	tons	\$226,800
Hay for Sale (Total)		1,260.0				\$226,800
HOME GARDENS	1,125	ŕ				\$337,500
NURSERY CROPS						
Fruit and Nut Trees	*				acre	\$16,000
Floraculture & Bedding	*				acre	\$125,000
Plants						
Woody Ornamentals	*				acre	\$180,000
Foliage Plants	*				acre	\$10,000
Nursery Crops (Total)						\$331,000
PECANS						
Improved	68	1,370.0	1,216.00	1,665,920	lbs.	\$1,915,808
Native	2,300	4,825.0	950.00	4,583,750	lbs.	\$2,750,250
Pecans (Total)		6,195.0				\$4,666,058
RICE	*	2,243.0	74.00	165,982	cwt.	\$921,200
SOYBEANS	116	66,847.0	47.00	3,141,809	bu.	\$20,893,030
SUGARCANE						
Raw Sugar	34	35,442.0	6,210.00	220,094,820	lbs.	\$26,851,568
Molasses		35,442.0	186.00	6,592,212	gal.	\$955,871
Sugarcane (Total)		35,442.0				\$27,807,439
VEGETABLES						
Beets	*	2.0	500.00	1,000	doz. bunches	\$7,000
Broccoli (Fresh)	*	2.0	440.00	880	cartons (20	\$13,200
					lbs.)	
Cabbage						
Fresh	6	8.0	700.00	5,600	sacks (50 lbs.)	\$39,200
Cabbage (Total)		8.0				\$39,200

PΙ	٨	NT	FN	$\mathbf{r}\mathbf{r}\mathbf{p}$	PR	PAPE	PRO	\mathbf{DH}	CTION	
	А	111	ועו	רועו ו	. 1 17		1111	יוועוי		

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Cantaloupe	*	1.0	100.00	100	cartons (40 lbs.)	\$1,500
Carrots	*	1.0	500.00	500	doz. bunches	\$3,500
Cauliflower	*	2.0	400.00	800	cartons (20 lbs.)	\$12,000
Collards						
Fresh	*	2.0	505.00	1,010	doz. bunches	\$7,070
Collards (Total) Cucumber		2.0				\$7,070
Fresh	*	1.0	375.00	375	bu. (50 lbs.)	\$3,750
Cucumber (Total)		1.0				\$3,750
Eggplant	*	2.0	610.00	1,220	bu. (33 lbs.)	\$18,300
Garlic	*	2.0	7,000.00	14,000	lbs.	\$42,000
Irish Potatoes						
Fresh	*	10.0	185.00	1,850	cwt.	\$55,500
Irish Potatoes (Total)		10.0				\$55,500
Lima Beans						
Fresh	*	2.0	40.00	80	bu. (32 lbs.)	\$2,400
Lima Beans (Total)		2.0				\$2,400
Mustard (Fresh)	*	6.0	610.00	3,660	doz. bunches	\$25,620
Okra (Fresh)	*	4.0	240.00	960	bu.	\$19,200
Onions	*	6.0	185.00	1,110	bag (50 lbs.)	\$22,200
Green Onions	*	4.0	1,500.00	6,000	lbs.	\$9,000
Peppers						
Banana	*	3.0	340.00	1,020	bu. (25 lb.)	\$12,240
Bell	*	4.0	950.00	3,800	bu. (28 lb.)	\$57,000
Jalapeno	*	4.0	400.00	1,600		\$24,000

PLANT ENTERPRISES PRODUCTION

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
VEGETABLES						
Tabasco Green (Processing)	*	1.0	40.00	40	cwt.	\$2,360
Tabasco Red (Processing)	*	1.0	38.00	38	cwt.	\$2,660
Yellow Hots (Fresh)	*	1.0	350.00	350	bu. (25 lbs.)	\$5,250
Peppers (Total)		14.0				\$103,510
Pumpkin (Fresh)	*	4.0	210.00	840	cwt.	\$16,800
Pumpkin - Cushaw	*	5.0	300.00	1,500	cwt.	\$30,000
Shallots	*	4.0	1,450.00	5,800	doz. bunches	\$29,000
Snap Beans (Fresh)	*	5.0	42.00	210	bu. (30 lbs.)	\$4,200
Southern Peas (Fresh)	*	6.0	96.00	576	bu. (24 lbs.)	\$11,520
Spinach (Fresh)	*	2.0	38.00	76	bu. (25 lbs.)	\$1,900
Squash (Fresh)						
Yellow Squash	*	4.0	325.00	1,300	bu. (45 lbs.)	\$15,600
Zucchini Squash	*	4.0	310.00	1,240	bu. (45 lbs.)	\$12,400
Winter Squash	*	4.0	300.00	1,200	bu. (45 lbs.)	\$16,800
Squash (Fresh) (Total)		12.0				\$44,800
Sweet Corn (Fresh)	10	25.0	1,210.00	30,250	doz. ears	\$90,750
Tomatoes (Field)	*	15.0	2,210.00	33,150	lugs (20 lbs.)	\$497,250
Turnips (Fresh)	*	2.0	600.00	1,200	doz. bunches	\$8,400
Watermelon	*	3.0	135.00	405	cwt.	\$2,430
Vegetables (Total)		152.0				\$1,122,000
WHEAT	15	9,750.0	58.00	565,500	bu.	\$1,820,910
TOTAL ALL PLANT ENTER	PRISES					\$73,099,147

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of	Total Units of Production Measure	Gross Farm
Tisheries	Producers	Production	Production Measure	Value

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
AQUACULTURE						
Crawfish (Farm)	12	2,150	Acres in Prod.	350,000	lbs.	\$227,500
Catfish (Farm)	*	8	Acres in Prod.	450	lbs.	\$257
Aquaculture (Total)						\$227,757
FRESHWATER FISHERIES						,
Crawfish (Wild)	60			4,500	lbs.	\$2,340
Catfish (Wild)	8			1,300	lbs.	\$607
Buffalo	8			325	lbs.	\$50
Gar	8			650	lbs	\$599
Other Finfish	8			1,100	lbs.	\$200
Freshwater Fisheries (Total)						\$3,797
FUR ANIMALS				95	pelts	\$504
ALLIGATORS (WILD)				1,567	_	\$34,485
TOTAL ALL FISHERIES & V	WILDLIFE ENTERPRISES					\$266,542

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			1,304	head	\$473,834
400-500 lbs.			1,721	head	\$719,387
500-600 lbs.			1,800	head	\$827,046
600-700 lbs.			725	head	\$377,000
Steer Calves (Total)					\$2,397,267
Heifer Calves					
300-400 lbs.			750	head	\$240,083

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production		Value
CATTLE & CALVES						
400-500 lbs.				1,860	head	\$701,155
500-600 lbs.				1,930	head	\$822,026
600-700 lbs.				225	head	\$109,688
Heifer Calves (Total)						\$1,872,951
Yearling Cattle						
600-700 lbs.					head	\$338,000
700-800 lbs.				430	head	\$241,875
Yearling Cattle (Total)						\$579,875
Cow-Calf Pairs					pair	\$252,000
Cull Cows				1,801	head	\$594,735
Cull Bulls				95	head	\$69,398
Cattle & Calves (Total)	101	18,641	No. Cows			\$5,766,225
HORSES						
Brood Mares						
Race Horses	*	_	No. Brood Mares	5	head	\$30,000
Show Horses	*	_	No. Brood Mares		head	\$30,000
Recreation Horses	25	210	No. Brood Mares	50	head	\$75,000
Brood Mares (Total)						\$135,000
Stud Fees						
Show Horses			No. Stallions	70	mares bred	\$105,000
Recreation Horses		15	No. Stallions	100	mares bred	\$10,000
Stud Fees (Total)						\$115,000
Race Horses	*				head	\$120,000
Show Horses	15				head	\$88,000
Recreation Horses	500			1,710	head	\$1,710,000
Horses (Total) GOATS						\$2,168,000

ANIMAL ENTERPRISES PRODUCTION

	TALVILLE	AL ENTERI RISES TRODUCT	1011		
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
GOATS					
Show Goats			10	head	\$1,500
Stocker Goats			15	head	\$975
Goats (Total)	*	27 No. Does			\$2,475
SWINE					,
Show Pigs			60	head	\$18,000
Feeder Pigs			90	head	\$1,620
Slaughter Hogs			50	head	\$6,175
Culls			21	head	\$2,310
Swine (Total)	*	50 No. Sows			\$28,105
TOTAL ALL ANIMAL	ENTERPRISES				\$7,964,805
POINTE COUPEE I	PARISH TOTAL				\$81,330,494